- 20o\5-\(¢
SYCs. . &
wmm‘ks-z Yohrs B(ﬁe E &C\\QC\ \\6

1 ;) All questions are Compy
) Each question carry eq

VCD 2Qq QC\\BComputer I
Instruction:

lSorX_
° 1)5)50123 the following (any4) ual marks.
rrange th _
B 3??6 theet;:::bers 67453 in ascending order using Bubble sorting aleorithm
1) Relati - g alg .
iv) Symllittric Cl‘;)sgr};de li)Boolean el o mabces

c) Solv i
) e the recurrence relation a,=8a, +{J(l): ‘Dath
n n-| ’

d) Writea note on Tower of Hanoi
i R anoi.
: ~is given by

M=

{20}

wi a . . .
» With a,=9, using generating function.

»3,4,5}. Using V
> g Warshall’ ;
o 75 algorithm ﬁn_d the transitive closure of R whose matrix

f) Letaretation R defi
_ . ned.of Z°* . =
Define the Composite relationas aRbiff a/b then prove that (Z'/) is also poset.
e Let A={1,2,3}, B= N .
- S={(ay)(bx) (c'y){?;bz’;} ’ﬁg‘{;’{’z(}:- Let R={(1,b),(2,a),2,¢)} from A to B and
. ,, 1) Js\Gy m o C. Find SOR,M ¥ Also Ty -\ »
h) Solve the recurrenceftelation an=7a, ,-10a,,, with ;r_i_ ; av_elr;fy M 5sr=MrOMs:
L . . . n- -2 —J, { o %

W
aQ
~

-~ -Q2) Solve the following (any 4) ;

-a). -Perfq ' : N %
a) Perform a postorder search 6 the following tree using postorder search algorithm.

[
i
|

K B

- .b) - Define i) ordered rooted tree

**ii) linked list representation using vertex and edge ﬂig:. |
hm. Apply it on the following graph starting with vertex "

« ‘c)_ ,Wrirt_é-thle Breadth First Search algorit

)

a
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e).

: a) Define the term i) Binary tree
h) 1) Construct a tree of the algebraic expression ((7*3 )+(4 (5" *3 3I))+(3- (3*6)) _

Q 3) Solve the following (any 4)
“a) ‘State the Inclusion — exclusion principle.

b) State the Extended pigeonhole principle <

3

; ]
d)_. Write an algorithm on deleting the

1) Find the Path matrix for the'followirig graph usin
B RN I &

Use it fo '&ClAefél__\/i i

value in pinary search tree

i) Build a binary tree for alm— beam, break, else, end, 8010,
e (’I'aphy

th
ii) Gl\e adjacency structure and linked representanon for

Vi

\4;

Vs

rig graph ‘uvsivngrWarrshrall’salgo'rvirthiri7~ PR e

ii) Co'mpl'ete binary tree /- iii) Extéﬁded binary tree.

ii) lee the adjacency list and adjacency matrix of complete oraph of 5 vertxces EE RS
e Rt TR [20] . -

How many positive integers not exceeding lOO are: lelSlble by 2 15 or 5’) :

{ g

Show that if seven colours are used to pamt 60 bncycles atleast 9 bxcycles wxll be of the same :

colour.

State the sum and pnoduct rule’ ;
How many bit string are thele oflenoth 8? Also f'nd how many ofthem ends thh two blts

007? ' : i N by
Oi‘photograp'hfin onejﬁ_w;i__nﬁow'many D

" A family of 4 blothe;s and 3 sisters ale to be seated f

ways can they selected - i) if all SlStelS are seat. tooether
- i) if no two sisters 51t tooethel

Scanned by CamScanner



e} .

e) .Slatc the Binomial theoren, Use it to prove
T)Z"=O(Z)=2" for non-ne ;
DZRo(R)-1)* =g » for positive integer n
) State and prove Vandermonde’s identit;’. .

gative integer n,

g) State‘and Prove Pascal’s identity
h) Consider following FS :
it’s state table

A.Find States, input letters, initial state, accepting state; f(s;,b), write

Q>4) Solve the following (any3) - ‘
a) Sol.ve_the non-homogenous recurrence relation a,= 5an..-6an.z+7"-
. b) -Write a note on Binary operations on the graph. - = ' ’
c) ‘Use Shortest-Pat»hval‘gorrith{r} Eorﬁnd shortest path between the vertices of the following graph.

s

' 4
X 5 T

Y g z

‘d) Define the term Grammar. Write a noteé on the types of Grammaf. !
e) Define a) Turning Machine b) finite state automata - c) types of languages:
f) Determine whether the relation R whose diagraph is given is reflexive, irreflexive, symmetric,

asymmetric.
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